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2 X 6DI=AIE. 2x ___+ 2 é&RCT_
3X TDIAIEK., 3x __+ 6 &RUCT__
83X 4DTf=ZIF. 3x __+ 3 &RLCT___
6 Xx TOI=ZAIX., 6x ___+ 6 &RLCT__
1 X 3DZt=AIF, 1 x __+ 2 &mECT_
5 X 5MDIf=AIE. 5x ___+10 é&RCT
8 x TMZfZIE, 8x __+ 8 EELCT__
2 X 8MDI=AIEK., 2x ___+ 4 é&RUCT_
17X 6MDI=ZIF. 7x ___+ 7 é&RCT__
6 X 6 DCF=AIX., 6x ___+ 6 &RLET_
3X 9MDIF=AIEX, 3x __+ 6 &RLCT__
6 X 7TDIH=AIX, 6x ___ +12 ¢&ERULECT_
9 x 8MDIf=AIEX., 9x ___+18 &RLCT
8 x 5MZfZIE., 8x ___+16 &ERELCT__
1 X 5MDIAIF, 1 x _ + 1 ¢RCT_
. R o

FRERIZFERFIL

https://study.news874.net/

PFYRRITHR



